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TS Tw @R ABIE FROE @ A-

(a) coi=fBw (b) GRS

(c) arETafbe (d) ERNERETe
&3 (b) GRS |

BT wF AT (start) @ @07
(a) AUG (b) UAA

(©) UAG (d) UGA

Tes: (a) AUG

Rty 3 G ey Frorfe =22
(a) GBS (b) =N
(c) I (d) SRFRE R
Tes: (b) wizeallfBe

Phytophthora infestans ®@IF (@17 R &G wiA?
(a) 41T =B OREEEFET

(c) (I SER =ifef FI3%  (d) (Ve S =16 Fi26
©&q: (d) CoIfeT SR (16 126

(a) Allium sativum (b) Triticum aestivum
(¢) Hibiscus cannabinus (d) Hibiscus mutabilis

©e4: (b) Triticum aestivum

AT A T (FAB?

(a) TEIH @R (b) T @
(c) TF ¥ (d) 3% &=
Teq: (d) T @

@S C4 Bfew?

(a) IR (b) 4

(c) G (d) =
T&q: (a) SR |

(a) 110°C (b) 121°C
(c) 133°C (d) 150°C
&3 (b) 121°C
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AR I wigfoce f6.9q7.q A 1
(a) fSizang (b) FIRZPE
(c) ThEEE™ (d) NZEPG
T&F: (c) FRETE |

....... T 8 FAE A ICR-

(a) FRCBIEIET™ (b) =ifre
GRS (d) @ &bl
©ea: (b) #ifTe

@I Ree “Faw Snegd 737

(a) gt (b) CReTCOTEr

(©) FITE (d) Jeare

Te: (d) e |

I JFBRAT AT & Qeits ARG F?

(a) Lactobacillus
(c) Nitrosomonas

T&3: (b) Clostridium
A TR e RO Fi@ Fea (1 Sfemiv?

(b) Clostridium
(d) Azotobacter

(a) Riccia (b) Agaricus

(c) Pteris (d) Spirogyra
Teq: (a) Riccia

RNA (/& DNA (o7 @M & 3= =x?
(a) ST = (b) TG

(c) @fgE=a (d) frert GEteremE
Tes: (d) erf Gt |
TG Tfem fFew @A TgefEe?

(@) ¥ (b) et

(c) = (d) ==

Ted: (d) T

TR F© (S8 CT (GFITee ATF?
(a) 1 cetel (b) 2 cerrel

(c) 4 (el (d) 6 cerel

Tesq: (a) 1 el
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oPfAN ¥R ©ifFF, Towma Twel 59" @R GE

TG 59 @3¢ 73 a1 g =g wegF (2000)

o PR M= BMI (Body Mass Index) 3 e

F9-

(a) S &AL GG FeIF |

(b) SR G& FOIRCF (5T P, ©IfwCre @&
FeIfTs |

(c) S &I FeT, Sifrcara Zorol F19-1 1

(d) ST e IR (5T T, ©IfFFT A Fe

Tes: (a) O EIRE 66 FolfS |

750 ML % S0 FA0e T Toy el v

Y ANI?

() 60 T

(©) 240 CTFS

Teq: (d) 360 TS |

@ T fFefee A «ifF @3- waea sifane Rt

FACS A IR G-

(b) 120 CTFS
(d) 360 CTTS

(a) SHECCIEEA (b) uiferewBatm
(c) @ (d) wifefesEibs zame
Teq: (a) WEACCICHA |

Tagfe wyews @ ot wwme e o
RIS I O -

(a) “TRPmemebs (b) @™

(c) Fr=eafts (d) et

©es: (a) “FRITAAGS |

AR FYST @AF A I afgre ot Az F-
(a) 2T

(b) (57 fG7w

() ALAMTAE fTeaw

(d) ATWTAE [E6

©eq: (b) (MG fFeae |

I 95 foqeflt (heterozygous) F1 & & Fa1 7,
O TERRRT T @@ERAN &40 aR

RSN &Ry ECBIReea waire 23-
(a) 1:1 (b) 2:1

(0 3:1 (d) 1:3

Tes: (a) 1:1
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GIIER Feq i Bffb 3oy T2

(a) &S GIITRAT M4F THC LTI @OR |

(b) FA CINRWR (@ F& A 1

(c) I cafe fEx ~Ate |

(d) ¥ Glifers =77 932 & Tox2 <= |
Te3: (d) ¥ ciwifgre 7778 @32 & Toxe oS |
TR (ACRA (T 0 RO Lo 7 O AW-

(a) &% (b) TF©

© 3@ (d) Y@t

Te3: (b) IF |

(a) IF© (b) e

(c) 2= (d) foifemmer
Te3: (a) IO

IR O FRAT I (A ATF?

(@) 3= (b) TP

(c) Freafercs (d) S
Teq: (d) SR |

fer-fEff® (Sex-linked) &af8 71 @=G?
(a) ArSH (b) oY

() efrFet (d) T2

Tes: (b) Wy |

WS @ I ToAg @t elfStary wwet et
(a) CF© et (b) cTEe Ffa
(c) IJpia! (d) @=fGE =
Tea: (a) CI© A1

I =S (7R (F Ffowq AL g gt wied
=?

(a) T (b) &g
ORUE (d) w¢
Tes: (c) M |

Bird flu @ Reera w=t =

(a) Virus (b) Bacteria
(c) Fungus (d) Parasite

©es: (a) Virus
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31. 3 s JeIedR St F W R= 5.3 +
0.1 cm. TSR T oA A F97?

(@) 4.3% (b) 5.7%
(c) 6.8% (d) 9.0%
©&q: (b) 5.7%

IZ'IW:W,V=§1U3
&5 X 100% = 3 X 100%
=3 X 2% 100% = 5.7%

32. WO GBF ALFA BFF 9ms~! @R 6 ms~! @
e 93 @ 9% 27 O §94 T 2 ms 2 aR
3ms 2| G AYY OF (T (I ICA IR GPE AN
1Y oS oTitg T 78 (BT I HRD F© AW

(@) 4s (b) 65
(c) 8s (d) 12s
©eq: (b) 65

A I s, = s,

= wyt+a;t? = upt+ 5 a,t?

= 9t+ 2 x 22 = 6t + 5 X 32
>3t=_t2>t=6s

1200 5 Toy Swetw Wy i @3 < <m =ik
400 kg ©FR @ fvt gorce q sl tagfes GMoEs
2 A% s aree =0 e wwet 80% 2
TS [Qgfes *feq awe 2?1 [ g = 10 ms 2]

33.

(a) 3.2 kW (b) 16 kW
(c) 32 kW (d) 50 kW
T&3: (d) 50 kW
mgh
[ et ) = 228 % 100% = 80% =

ﬂ&&@1WJmmw5WW
2X60 80

34. IR (AT VOB O ©iAT e AP 1:21

=Py =

SIE JICR GgAre ey 39

(@) 1:v2 (b) v2:1
(c) 2:1 (d) 1:2
Tes: (a) 1:/2

Z‘IW:R1=R2
_ oLz i_gzg(gz

2T 2 =
mry Ty L, ry

pLy

A, A,
Iy 2 rq
~5=(2) 2 -5
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. G ZT 9-0oIFF CF@R W 4 x 107° T @ [\ fe
60°| @ B P-OIFF CFER T d TARTIR [

PO?

(@) 4x1075T (b) 2 x 10% uT
() 2x107°T (d) 20 uT
®ex: (d) 20 uT

21 Tt H = Bcos §

=4x10"° X cos60°

=4x1075 ><§=2><10-5T
=2x%x107%x10% uT = 20 uT

36 g T afers V21 feemity gAew
fagfe ot o2
(a) 30°

() 60°

Tex: (a) 30°

(b) 45°
(d) 90°

\/_><—

= 60° + 6, = 90° = §,,, = 30°
W (AT AfSNE myc? 9 T =W, W@ T
@Y W F9?

(@) 3v/3 m,c (b) 23 myc
(0) V3 mgc (d) V2 myc
Tes: (c) V3 mye

2 T4t Ey = (m — mg)c?
= myc? = (m — mg)c?

=S my,=m—m,
>m=2m, > m°2=2m0

S
v2 1 NE
> [1l-5=->v=—c
2 2 2
mq
OIE@, p=mv = =X —cC
\'
s
m NE
—°x?c=\/3m0c
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FIETRIZE (FER @ SN GIFouET (I AT | 43, o3 afee FeH @ ¢ oI GRfexme Siget
foqad? GTtod IAG 93 dB @R 85 dB| GMA et
(@) 160° (b) 80° WA SOl FIeoe F©?
(c) 320° (d) 40° (a) 93.82dB (b) 93.42 dB
Tes: (b) 80° (c) 93.33dB (d) 93.64 dB
1 Tt F=3C=C=" Te3: (d) 93.64dB
3 I
LC_Fm2_ 5 _F® DA 4 By = 10 log ()
r rselr_Fm R _pe =93 = 10log (;7%7)
3x5 9 57 3 57 3 1093 = 1
= 3F=5F—160 = 2F = 160 = F = 80° = ET=v
39. 7 kg SEA @ 8T T4 F = 2i— 3j+ 6k N ¥ =1 = 10747 Wm’®
2T 2T TEH T T 2l 7 M, BZ=1Olog(—2)
(a) 1.4 ms™2 (b) 1.5 ms™2 = 85 = 10 log (%)
(c) 1.0 ms™2 (d) 7.0 ms™2 1085 = L2
T&s: (c) 1.0 ms™2 10°12
/" . =1, =1073>Wm™2
D\/imi [F| = V22 + (=3)* + 62 <. TS o Sl ¢e, B = 10 log (%72)
=449 =7N -27 -3.
“F=ma=7=7a=a=10ms> =10 log (%) = 93.64 dB
40. 300 m T © AT DIt TFOIT 08 W CFW | 44, X7 wpa@m WS S@w O™ e 99 vt V-P
T e T T oifeife Rewifen wwde zwe ST @ <FTE?
(@) 100 m (b) 200 m
(c) 300 m (d) 400 m OMUGLE (b) 7
%% (b) 200 m (c) IO (d) wiftge
2 i 4%, 9P 20O x T Afee femfen | oo (4) e
e 2 [ <5t &=l @, PV = nRT
% TS, Ey = LE, 72 St M SIomEl 29 A, PV = Const
’ 2
1
= Er — E, =5,
=>ET=%Ep=>mgh=%mgx \Y k
=>x—3h—3x300=200m
41. Wa}m Lo 37 R wfems Twa <o o5 - P
(a) oS I (b) I 45. 2,3,6 uF 40ed fodf qaece @faaeiE 3@ o0
(o) e (d) cT B 10V JOIfEF AR e o R IeAICe HiTed
T&T: (a) (IO A | (“')l ! Wi@? b 15 ;
£y a) 1x1075C 1.5% 1075 C
42, 65 +150x = 0 ST AT CFITE FI% Fo? () 3.0x 1075 C (d) 6.0x 1075 C
(a) 6 rads™?! (b) 5rads~?! ®ew: (a) 1x 1075 C
(c) 25 rads™? (d) 150 rads™? ' L1 et
% (b) 5 rads~! A T Coq = (5 +5+5)
-1
/W6—+150x—0 =(32) " =1 yF
6
dt2+25x—0 -, Bite AR, Q = CV
2 =25 ¢ =>5rads™? =1x1076x10=1x1075C
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46. 3B @ AR B AT [ THRE WIEA e @

1 (A 120 cm T I_(EO | GG T $9?

(a) 1.25D (b) 2.25D
(c) 2.50 D (d)2.75D
&3 (¢)2.50D

Zw;ﬁaa’ﬂ,m=2:>§=z
sv=2u=>120=2u=2u=60cm = 0.6 m
- (AT O, P = 2 =4 == ——+—=250D

f A% u 2X%0.6
47. N + 3He - 130 + X 9=fo RSfFw [Rfewn ot x
% 23-
(a) =g (b) ca5T
(c) Freg (d) Frefge
©e3: (b) (2B |

0 i<t 14N + 4He - 170 + 4X
~14+4=17+A=>A=1
ORI, 7+2=8+Z=>Z=1X=1H= (671

48. @ p-n WA 0.1V [T Ny 7= =

fe, 202 TS 2T 400 mA | GF TS @Y F©7

(@) 0.25Q (b) 250
(c) 25Q (d) 250 Q
©&q: (a) 0.25 Q

A3 R=Y=_% __1_9p250

Al ~ 400%x10-3 4

49. +RIAT IFMER A THO! (A AT T A
IO?
(@) 8v2 km/s (b) 4V2 km/s
(c) 4km/s (d) 8 km/s
©eq: (d) 8 km/s

4 et = Seamenfierst s i,
Ui+Ki=Uf+Kf

GMm GMm | 1 1 1 GMm
- 0=-— “mv? = -mv? =-——
RiR T Rio T2 2 2 R

GM _ gR?

= v?=-—=2%-=gR=10x 6400 x 10°
= v =8000m/s =8 km/s

50. 2 (SF% Sfts e *fed @B @F 10 Q @HER

ST A R | M ST AL 1. 6 (OFF =T, OIRA
TR R4 F©?

(@) 0.50Q (b) 250
(c) 3.50 (d) 550
Tex: (b) 2.5Q

2 IR E=V +1Ir
=>2=1.6+%xr=>r=2.59
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a3fB ouw @ R[feam wdy 28 cwT I W@

Risaea go-aset oaf#2 A
(a) 24s (b) 56
(c) 84s (d) 112s
®ew: (c) 84s

(a) 220 (b) 322
(c) 370 (d) 420
%e3: (b) 322

BIEE TEE AfFTe e Fvr @ et
(I© W?

(@) e (b) TB®
(c) wES (d) SRS
Tex: (d) oRICsS |

Hg?*, Cu?*,Pb%*,cd?* @3 HCI fiffre @3 H,S
BIETAl SR (DR O T ALLTF Lo 7

(a) HgS (b) CuS

(c) PbS (d) Cds

®e3: (d) cds

CO3%~ @F (115 2T WY 392

(a) 24 (b) 32

(c) 38 (d) 40

Tes: (b) 32

Pl cwa 712G @AM & F© sqea 7 IR

(a) 230-380 nm
() 200-400 nm

Tea: (d) 300-320 nm
2CH; — CH, — OH == Product esimfs & zwa?

(b) 240-280 nm
(d) 300-320 nm

(a) S OREICEEY

(c) 2 (d) &R @t

Tea: () 399

() M FEAPT (b)) GFN(GS AT
(c) fawifgs e (d) fa-wifass speaiset

Tes: (d) fa-wifas Fyie=ee
«3f6 ETRIF Pt 2.16g Ag €T A face & wAfasret

(a) 9650 C (b) 1930 C
(c) 3860 C (d) 1720 C
e (b) 1930 C
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60. 10 g OFF ¢F (¥4 @R 7Y H,S0, TAY® I | 68. T @17 a1 “micds 7=’ ¢ cwenfa® e
A [T wWfke Fa© 30mL, 0.5M K,Cr,0, (a) TEFERE @ffe (b)) CfeAN FIETEs
ARG | FIRITS (SR T TS7? () Cifea 2ReEGrARe  (d) ENfeas et
(a) 50.27% (b) 57% :

(c) 49.73% (d) 43% T () @ W@‘@/
TR (a) 49.73% 69. ﬁmi:lciﬁmﬁmﬂ ﬂﬁ:v;a; flg «aF AR F9?

61. @Il IO CF, (%)T =7 Eg 2.94.0 E(ﬁ 1263
@0 (b) 1 Tex: (d) 4.2-6.3
%2 0 )3 70. IR A T2 O FS?

o @) (a) —285.85k]/mol  (b) —393.50 kj/mol

62. i Frrel @F @9 1gd Fewq? (c) —494.55k]/mol  (d) —871.50 k]/mol
(@) Cu 8 Zn (b) Cu, Zn € Ni ®es: (b) —393.50 kJ/mol
(c) Cu, Zn 8 Ag (d) Cu @ sn 71. Vi+V-i=3F®
©es: (b) Cu, Zn € Ni (@1 (b) —i

63. FEFEeEE Aee @Ab? (©) +v2 (d) -2
(a) CCl; — NO, (b) CCl, — F, Bas: (c) +v2 _

(c) (CH); —C—Cl  (d) CHCl, 4 g = i, i =+ (S
Tes: (a) CCl; — NO, VSie (2)

64. WE® @ EeibT ToAE FOE @A 7 \/—_ﬁ_+ 14, 1-i
(a) C,HsOH (b) CH;COCHs5 IhV-I=1 (F+%)

(c) CH3CHO (d) C;Hg =+ (F5—)=x(F) =12
©ex: (a) C,HsOH 72 %Sin—lg —9
65. «ftlEe I RE@Tact IRT W @FL? @ tan_1% (b) tan12
(a) 70% 3E 8 30% “ffFg el (©) cos1° ) sin—12
4 5
(b) 40% 23 8 60% Mg et S () tan-1 1
(c) 70% T=IE '@ 309 fifea fivwet I'ﬁ;mﬂ-%rfiez— e o
(d) 70% 2EF @ 309 AT St @rﬁ DETON 5T
(e) T€R: (b) 40% 21ZFe1 € 60% = el A e, timE ~ T+cos6
66. AT @ RFCBIT-7 oy ALy fRefziat A=t =1 = tan = =5 4 5 4
+3 8 =tan =
e5? > tang =2 %
(a) 2,4- TIRARCE ez RGReA =l L0 taptl O=cos™s frrar=3
(b) BT RFET s - isin_l 4 =2tan‘1 1
(c) Cwafere et AJrw! 2 > 2
, 73. 4N @R 6N R 72 =1 7> =77 fae fewan
(d) =Tes i IR | R (R FO?
& (a) 2,4- TG 3 213G oA (a)' 10 N' ' (b) 2VT3N

67. fo7 @ M Wow T ROE e (©) 4VZIN (d) 100 N
1s2 2s22p® 3s23p° %ea: (b) 2VI3 N
(a) Ne (b) Ar -

(©) Kr (d) Xe A T4 R = V42 + 62 + 2 X 4 X 6 cos 90°
ez (b) Ar =42 + 62 = 2¢/13N
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74.

75.

76.

77.

78.

79.

ﬁmﬁﬁﬁwmmw

€)) (A‘l) 1= (b) (AB)™! = A-ls—

(© (a") " = (A‘l)T (d) (BA)A™! =

s (b) (AB)"! =A"'B!

ax + by — ¢ = 0 TR TFER AR @ ogw

TR FW OIF CFGT IS I GFF?
(@) — (b)—

2ab 2ab

()m— @ =

TeR: (b) —

2ab
A 34t ax + by —c= 0 = ax + by = ¢
L
¢ ¢ a b
2

~. fagres craws = —>< ><— zCE

x2+y2+4x+y—0 qm e e
AN @62

(@) 4x—y =0 (b) 4x+y=1

(O x+4y=0 (d)4x+y=0

W'(d)4x+y=0
Wxx1+yy1+2gx+xl+2f%+c=o
WWW@,

x0+y.0+4224+12 =0

:>O+O+2x+5 0=>4x+y=0

ne, =?

(a) n! (b) =

()(n ey ()r,(n 5

W()r'(n r)!

1 2 3

4 5 | AfEEs T To?

7 8 9

@1 (b) 0

(© -1 OF

©es: (b) 0

] ot SRS 20 0

Ix + 4| < 3 @7 |9 T [T e @2

(@) -7<x< -1 (b) 8<x< -2

©7>x>1 (d) G2 71

Tex: (a) —7<x< -1

A x| <a 2@, —a<x<a

Sx+4]<3FFA, -3<(x+4)<3

=-3-4<x4+4-4<3-4=-7<x<-1
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81.

82.

83.

84.

(3x2 - L)’ a faafors e o 17 x <2
(a) 3 (b) 5

(©) 6 (d) 7

Tew: (d) 7

A0 v+ 1 ¥ 7MW x Iere 70,

9 2vo-r [ 1\F
n°C(3x%)°" (- ) @ x @7 We =18 - 3r

~18—-3r=0-~1r=6

7 ¥ 7 x Afers |

(2x— 1)% + 3y + 1)? = 36 T/ @ FAD?
(@) (2,3) ) (2,-1)

© (23) @ (3.-3)

1 1
T () (;,-3)
A3t (2x — 1)% + 3y + 1)? = 36 = 62
u‘lvm,x=2x—1=>0=2X—1.-.X=%
ORE, Y=3y+1=>0=3y+1:y =_§

o (t)

Xy = 4 NS4 &I -

(a) @36 g8 (b) «<fb Toige

(c) a5 *=Ige (d) @=f5 wfege

Beq: (d) 93 wfkge

sin"lx +sin~ly = 2 20 x2 + y? @F WA F?
(@ 0 (b) 1

(o) -1 d) 2

®ed: (b) 1

A 5t sin‘1x+sin‘1y:g
= sin"ly =T —sin~1x
2
=y =sin (3 —sin~'x)
=y = cos(cos™1V1 — x2)
y=vl-x*=y?=1-x

ax2+y?=1

y= tan‘l(aX) T Y a?r‘-m?ﬁ?

@ e 1+ax2 ®) 7o 1+azXz

(© 1+X2 (d) @AHE 731
t(0) s 1+a Xz

Z'IW. y = tan"*(ax) ;

AR, i(ax)=—><a= i

Tdx T 1+4(ax)? dx 1+a?x? 1+a2x2
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8s. fogu‘:x G T F? 88. %M W u QU WY T P FTwt Taw ol ty
anx
@2 (b) 0 8 t, GTHCE h THOR I IR, O e @I
©7 O Tt o
1 1
Tes: (o) % (@) h=Zgtyt, (b) h =—g(t; +t3)
|Z1a31=m;1=f0g L dx © h=§gt—: (d) h =gt — t;)
- T cosx ®ex: (a) h = %gtltz
=>1=[z—"dx...(i) » _ 12 1 2 _
0 cosx+sinx l__‘lw:h—ut—agt :Egt —ut+h=073t
A, @3 fagret TR, AT, t,t,
I—fg cos(TZ—[—x) d a 4t —_u_2u
Yo cos(g—x)+sin(g—x) X fo f(x)dx R %g g
T Gnx = (*f(a— 0 _h _2h _2h 1
L= [P0 gy i) Jy f@—x)dx Gty X t, =R =T h=gtit,
() + (i) = 21 = [7 o5X*sinx 4 89. x- U¥ WS x’+y’+6x+4y+8=0 G o
i 0 sinx+c?1sx N —
— (2 _ 2 —E,-, :E QI%E \ .ﬂi%.slﬂ 7
S20=fzldx=20=[x2=>20="2 1= @ 1 b) 2
86. IIEW I ST @0 V2 @ @ @S AR © 3 (d) @HBE T
TS @I Ao e FAG EIaR]f& A 2o ARE? Tew: (b) 2
(@) 120° (b) 135° At 2/g2 —c=2/(—3)2—8=2/9—-8=2
é;)zmo (d) IR A 90. P(AnB)=§;P(AUB)=§,P(A)=% & P(B)
/.: (b) 135 4T T T
= T A (@) OF
V2P © 2 @3
NS . 2
B — P (ITSF @) et (b) 3

. _ 21 <t45t: P(AUB) = P(A) + P(B) — P(ANB)
V2Psina 1 _ V2Psina = P(B) = P(AUB) + P(ANB) — P(A)

P —
P++v2Pcosa 0 P++2Pcosa “PB)=2+1-1=2

1 o 63 2 3
= P+V2Pcosa= 0= cosa = — g ra=135 91. The CEO of Google interviewed several candidates

tan 90° =

87. «IM ¥ TAT (U@ AT 4 CTFS AT QOCE | oo had the experience and qualifications the
position required.
sfee = @/ o 2 CTFT TE F© T Y (a) whom she thought  (b) who she thought
wfows 36 e (c) she thought who (d) of whom she thought
Ans: (b) who she thought
(2) 128 5 (b) 96 ¥5 21 Explanation: Who €21t relative pronoun 3
(c) 160 5 (@) 192 35 candidates (43 T T3 9 “had the experience and
BT (d) 192 F qualifications” “Sifesee] @ (sl e |
At s = %gt2 [u=0] 92. Find the antonym of capitalized word: SAGE
_1 2 _ (a) Ignorant (b) Cheerful
Sa =5 X 32X (17 = 2561t (c) Vulgar (d) Sincere
2 sec 99 &j, Ans: (a) Ignorant
S, = % X 32 % (2)% = 64 ft X1 Explanation: SAGE *=ifoq ¢ ¥y a1 wzreerat |
“ Sfinal = Sa — Sy = 256 — 64 = 192 ft 7 fI=19e *= 23 Ignorant I IS |
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94.

95.

96.

Which sentence is incorrect?

(a) One-third of the students are present.

(b) Half of the fruits are rotten.

(c) Two-thirds of the task is finished.

(d) One and a half lemons are required.

Ans: (d) One and a half lemons are required.

21 Explanation: One and a half
quantity 20T <21 27 13 is 2F |

Would you mind.......... the door?

(a) opened

(b) opening

(¢) to be opened

(d) in open

Ans: (b) opening

21 Explanation: Would you mind + verb + ing
Which is not an exclamatory sentence?

(a) If I were a bird!

(b) O that | were a bird!

(c) Would that I were a bird!

(d) I wish I were a bird!

Ans: (d) [ wish [ were a bird!

20 Explanation: | wish | were a bird! @f5 @3f5
assertive sentence.

..................................... before the exam started.
(a) No sooner had I reached the exam hall

(b) Scarcely had I reached the exam hall

(c) Hardly had I reached the exam hall

(d) As soon as | reached the exam hall

Ans: (c¢) Hardly had I reached the exam hall
2 Explanation: Hardly had + Sub +V3 + Object +
before +Subject + V2

& singular
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97.

98.

99.

100.

""He corrects himself*'-
the sentence.

(a) Himself is corrected by him.

(b) He himself corrects him.

(c) He is correct to himself.

(d) He is corrected by himself.

Ans: (d) He is corrected by himself.

identify the passive form of

20 Explanation: Subject + be verb + V3 + by +
Object

I had two eggs for breakfast and............ of them was
fresh.

(a) either (b) neither

(c) not one (d) both

Ans: (b) neither
[Z1 Explanation: @ neither &9 «@FB T8 At

TRl 7 =l TS AR |

The teacher said, "You must obey the rules".
Which one is the correct indirect speech of the
sentence?

(a) The teacher said that I must obey the rules.

(b) The teacher said that I had to obey the rules.

(c) The teacher said that I must have obeyed rules.
(d) The teacher said that I should obey the rules.
Ans: (b) The teacher said that I had to obey the
rules.

=A Explanation: Narration @ must QI<e¢sT had to 23 |

@i T© B (offe'- Appropriate translation is:
(a) It is you who was at the root of all mischiefs.

(b) You are at the root of all mischiefs.

(c) Itis you who is at the root of all mischiefs.

(d) It is you who are at the root of all mischiefs.

Ans: (d) Itis you who are at the root of all mischiefs.
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